What is Lady Gaga wearing?
a) Listen to the text. Tick () the correct answer. 

1. Lady Gaga wears 
jeans.
a skirt. 

a dress.

2. Today Lady Gaga wears 
black earrings. 

blue earrings.

no earrings.

3. Lady Gaga’s hair is 
blond. 

black. 

pink.

4. Lady Gaga wears 
boots.

high heels.

sneakers.
b) Listen to the text again. 
Answer the following questions. 
1. Which colour is Lady Gaga’s T-shirt? 
→ Lady Gaga’s T-shirt is _______________. 
2. Which colour are Lady Gaga’s boots? 
→ Lady Gaga’s boots are _______________. 

3. Which colour is Lady Gaga’s hat? 
→ Lady Gaga’s hat is _______________. 
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